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 For English Medium Students ~ PHYSICS (New Course) T
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" 9" (Fresh/Reappear)

Time allowed for Section ~ B and Section - C is 2 Hours and 45 m!nutes

Saction~B

Answer any EIGHT parts Each part carries FOUR marks.

How technology is shaped by Physics? S

Wiite 4 names of base quantities and 4 names of derived quantmes

If a car accelerate from rest to 140 kmy/h-in just 17.6 seconds on straight road,
What is the acceleration of the car? '

Why is it more difflcult to lean back watdis? Fxplain.

earth. Does this force exert torque on satellita?

stayed the same?

Differentiate between stress and straln
Why we feel cool after perspiration? -

Section ~C

Note : Attempt any THREE questcons Al questions carry equgl marks. - -

Why is the fraezer compartment keg{,ét the top of a refngprator? Explain brleﬂy

Marks: 32

4

In uniform circular motion, is the velocity constant? Is the acceleratlon constant? Explain.
The gravitational force acting on a satellite is always directed towards the centre of the
- What would happen to your weight on earth If the mass of the earth doubled butits radlus o

A meteor enters into earth's atmaspherg and burns What happens to it kmetlc energy?

*Marks: 21
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Find the expression for acceleration and tens:on in Atwoog's machine? -

1580 kg car Is traveling with a speed of 15 m/s. What is the magnitude of the
horizontal net force that is required to bring the car to a halt in a distance of 80 m?

What is resolution of force? Explain with an examplé how. forces can be resolved
into rectangular components.

To open a door force of 15 N is applied at 30° to- the honzontal Fmd the horizontal
and vertical components of force.

State the law of consetvation of energy and mass energy conversion relation.
Calculate the velocity of a 1.2 kg falling star with 5.5 x 10°J of energy. -

How pressure varies with depth in liquids? Explain.

Show that the coefficient of volume thermal.expansior: of solids * y ™'is about three
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fimes the coefﬂCIent of linear thermal expansion."a" of solids. (y = Sa)
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